Workbook Practice 21 (pages 59 to 62)
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(b} 1 raust multiply 327 strawberries by 7.

(e} 327 = 300 (rounded to the nearest hundred)
Estirnare: 300 = 7 =2100
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(&) There are 2289 strowberries in the marning.

1] (2) (a) She works for 17 hours per weel. In 7 weeks, she works for

She works for 119 howrs in T weeks,

(b) She gees paid $8 per hour. In 7 weeks, she will make:
1 1 19
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9 5 2
She will make $952 in 7 weeks,

61 (3} (o} There are 24 goots.
There are B times as many chickens o3 goars.

1 4
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There are 192 chickens.

(b} ¥We need to sum up the total number of goats and chickens.

1 9 2
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There are 216 goots and chickens altogether.

62 (&) (a) He saves $6 per day for 125 days. Therefore, he soves:
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Samir saves $750.

(b) $BBT - 5750
B &8 7
-7 5 0
1 3 7
Samir still needs to save §137.
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159 (1) Let's deaw a modil te rapresent the prablam,
12.15em 34 10em
Height of pot | Height of plant
4625 erm

e subtroct | to find the omswer.
4 [ 2.5

= 1
3 1

So. the plont heas o besght of | 34.1 |em

162-163 [ (3} (@) Heow much further does Jode walk than Hen?

Dirae o model to represent the problem.

125km
L dode |
B0 p

1.35km — B&dm = 1.35km — 0.B6 km
=049

Jode walks | 0.49 km more thon Han,

(b} What is the totol distance thot Jode ond Hon walk to school?

1.35km + 086 km = 2.21 ke

Jude: and Han wulk o total distonce of | 221 ke



